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EN5101 Digital Control Systems

1.State Space Model / State transition
2.State Feedback Control

3.State Observer / Observer Design
4.7-Transforms

5.Pulse Response, Stability, distortions
6.Digital Redesign

7.Lyapunov Stability

8.Kalman Filer

EN5101 Digital Control Systems

State Space Model
State Transition

From ODE to State Space Model
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Example: Temp Control System
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Assignment #1

Derive the state space model of the plant
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State Transition without Control Input
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State transition with control input
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Example
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